+B2337+220

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jun17 to 30jun1?7 all freq

104 pnts. Gain K/Jy

N
o

0

0

WZL ¢ ;~; ;
L + ]
10— F
8| N
6 N
0 5 10 15
za
Tsys
50: T T Jr + =
isE 1155, 13D g ETEF s s wnd tT +t E
= + T =
- + + .
b s tr el 1T i fE T R iR F 1 E
30; é
25; é
20k ‘ | | =
0 5 10 15 2
za
Sefd
5.0F ‘ R——
4.5; + é
C + + 3
10 T A S S S A + 3
3.5— + —
- ¥ T+ + ++ FF FF + ¥ + =
3.0 ﬁﬁﬁﬂ ff - TEOIT LT A 4+ E
2.5; é
2.0E ‘ ‘ | -
0 5 10 15 2
za
AvgBmWidth
260 ‘ ‘ ‘ + .
- M+ T+t 4+ b+ o T T ]
240:— {
B L
220 — A+t T A 4+ o + o+ N~
N . i
- A+ T+ A b+ T + A
200 — Tt Tt 4 +i T N i
wgo:— {
160: ‘ ‘ ‘ ]

o

10
za

N
o



+B2337+220

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jun17 to 30jun17 1155 Mhz 26 pnts. Gain K/Jy

12 — |
L T S o S SR RIS S FG 2 ]
10— -
87 —
67 —
0 5 10 15 20

za

Tsys

S50F ; ‘ . .
C T + ]
45 T L 2 S E
40— E
35 E
30— E
25— E
20: L ! ) -
0 5 10 15 20

za

Sefd

5.0F ‘ _ :
4.5 E
= + ]
40F T i E i L A s E
35 E
30— E
25 E
2.0E ‘ ‘ ‘ | | | | ]
0 5 10 15 20

za

AvgBmWidth

260 ; ‘ :
* A+t Tt b+ e+ 4 .
240 E
220:— {
200 — E
180} {
160 L ‘ ‘ ‘ ]
0 5 10 15 20

zda



12
+B2337+220

Gain [K/Jy]

5.0

4.5

4.0

3.5

SEFD [Jy/Tsys]

3.0

2.5

2.0

260

240

AvgBmWidth [aSec]

O1jun17 to 30jun17 1310 Mhz

26 pnts. Gain K/Jy

- BRERE T 4 —
- e TEAT A FIG 3 7
:, . ]
0 = 10 15 20

zda

Tsys
- R
- IR A ]
0 = 10 15 20

zda

Sefd
= . ]
i + 7
3 - + F =
- T R o e i s A :
0 = 10 15 20

zda

AvgBmWidth

- + + 7
- 4t T e+ 4+ e 4 T =
0 = 10 15 20

zda



+B2337+220

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

O1jun17 to 30jun17 1375 Mhz 26 pnts. Gain K/Jy

- o+ e+ + 4+ ++ —
- et e b o FIG 4 7
- + ]
0 = 10 15 o

za

Tsys
— L+ + 3
- e 4t 4 R R P T E
0 = 10 15 o

za

Sefd
5 + 3
= . E
— . N E
- b i it 4t A 4 A AT E
i ’ o 15 20

za

AvgBmWidth

ny o
B Mt 4+ b 2Tt b At oy 4+ ]
0 = 10 15 o

zda



+B2337+220

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

O1jun17 to 30jun17 1415 Mhz 26 pnts. Gain K/Jy

- T N s i b S A R -
L + FIG 5
i N ]
f . ]
0 5 10 15 20

za

Tsys
= L4
C . N ]
- I A A E
0 5 10 15 20

za

Sefd
= e
= + =
: + 7 3
= T T e S sk A E
0 5 10 15 20

za

AvgBmWidth

- + +
- At 44 A g 4 Ty F B
0 5 10 15 20

zda



